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b- Fill in the blanks: (21 points) ! =
1- The midpoint of the 2™ class is: _js_-é_-_:;_f a4

2- The class boundary of the 2" class is: bﬂ.i = 39.ts//f/

3- The relative frequency of the 3™ class is: --- --Q{_y_-__/._

4- The percentage in the 3 class is:

5- The RCF in the 3™ class is:

/- Which class is the modal class?

C- Calculate the Cumulative frequency of the
the exercise (4 pts)
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(4 pts)

Match the following variables with their scale of measurement.

1. Time needed by students (in minutes) to complete an experime

2. Color of markers used by instructor - »Ratio , -~

3, Fvaluation of a product (Excellent, good, poox.)____———————-————"' _'md‘“a‘v/

4. Boiling temperature of Tomato sauee———————

{4 pts)

Indicate whether the following variables are Discrete or Continuous.
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/€ . Total amountof fresh juice (in Liters) prepared each day by a juice vend

~ 1- Number of messages sent per day by a sample of 30 students —

3- Number of daily hours of exercise by a team of footbal players == s

[ 4-Total number of pants sold per month by 3 branches of GS in one country ===="=""2 _ ~ Fochan e g
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| b) What is the sampie size?(3 pts)
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b) Calculate the Mean. Show your formula and calculation. Round you
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¢) Calculate m
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& Approximately what percentage of students scored 87 and below? (4 pts)
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Caiculate the Range. (3 pig)

) Caicuwr_-_ﬁﬁndard deviation. Show your formula and calculations.
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